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Winter Addition

Solve the following word problems.

In December, John collected 35 pine cones and in
January, he collected 45 more. How many pine
cones did John collect in total?

There were 28 children playing in the snow. Then,
17 more children joined them. How many children
are playing in the snow now?

During a snowstorm, 58 inches of snow fell on
Monday and 19 inches fell on Tuesday. How many
inches of snow fell in total?

On a winter day, 37 birds visited the bird feeder in
the morning and 22 more visited in the afternoon.
How many birds visited the bird feeder that day?

A snowman was built using 30 snowballs. Later, 18
more snowballs were added to make it taller. How
many snowballs were used in total to build the
snowman?

In a winter festival, 41 people attended the ice
skating event and 38 people attended the
snowman building contest. How many people
attended these two events in total?

Emma baked 24 gingerbread cookies and 56 sugar
cookies for a winter party. How many cookies did
. Emma bake in total?
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